Us0 Uboutdbbotdtbotdbootdd

5.2.1 UU0O0OO0OOOOOOOOO
0000000000000 z@)!'000000000

R(r) = /oo o (et + r)dt (5.1)

— 00

00000000000000000000R(0)0000000000000000000
0000000 r00000000008,(f)0 (20000

/00 /00 ¥ () (t + 7)e 2™ T dtdr
X*(f) X(H=IX(HP (5.2)

R(1) & S:(f)

O000X(f)00z()0000000000
z(t) & X(f) = /00 z(t)e I3t qt

good
Jdodoooooooooooogono
R(0) = / S, (f)df (5.3)

0000000000000000R(0)000 z()0000000000. 00000 (5.2)0 S.(f)
00000000000 «()0000000000000000000000

5.2.2 QJUO0OO0OOOOOOOOO
0000000000000 =z¢)OOOOOOOOO

/2
R(r) = lim —/T 2 (t)z(t + 7)dt O (5.4)

000000000 000R()DDOOOUOODOOOUOOOO

lDpoooDoO00oOooo0o0Oon

29



000000000 -0000000000 S.(f)O

RE) e i) = gim FAUE 6.5
oooooaoon
z(t) (A/2<t<A/2)
Kall) e aalt :{ 0 otherwise (5:6)

0000000000O000R(0)00D0 z()0000000. 0000000 (5.3)0000 (5.5)
0S.(f)00000000000«(¢)0000000000000000000

5.3 UUuUouooognd
0000000000000000000000000000000000000000000

1. 000000000000 R(r) = R*(-7)
00000000000000

2. 0000000000DOObOODO
googboooboooboooboo

J.00b0o0o0oooboobooboocoooooooOoboon

54 UUOUOOLOOLOOOOOO
00

ogboooooboooooobooboooon
ooboobooooooobooobobooooon
oooooooooooboooooboo
(0000000000000 000000000000
n(t)0000000000O0 0000000000000000000000000n(t)
0000o000000o00UO00 (bo0o0U0O0)00o00DU000O00DUOD0OO0O0oDUOOOOUo
00000000000 (o0oo)oooooooooo

O
O O
O

oooOo
oooOo O
~OOOo O
Oooo
OooOo
OoOdg
Oodg
Ogdg
Ogdg
OoOg

ooo ooomo
oono goooo
oono

o n oood
O oo

gooooooono
goo0oo00ooooooooooouoobooooooooooooo oo ooooooooo
goooo0o0ooooooooooooooooooooooooooooDoooooooooooo
DDDDDDDDDDDDDDDDDDDDDDD(DWDDDDDDDDDDDDDDDDDD
goooogg
ooooo 7l(t) Oo0o0o0o teOooooo 7l(t0) O00o0ooooooooboonotswooooo
D000 »() 0000 En()] 00

E[n(t)] = / 2 Prob[n(ty) = z]dz (5.7)

000000000000t 0000 n(+t) 0000000000000 (ensemble average)
gooobobobbotbodoooobbooooobbboooooooubo

n(t) = lim l/m n(t)dt. (5.8)

0000000000000 0000000000000000UD (time average) 0000000

n(t)000000 ER@A))000000 n(#) 000000

30



5.0 UUOUOOU0OOOLOOLOOOOOOOOO
obooOoo,0bob00oocb0oobobOoooobobooobooboooooboOooboooooooo
goooobobbooooooobboodoooob bbb bbbbboooooob o
oboooooboobooboooooboboooooobooboobooooooon
0000000000+ 00000000000 0000O0O00O0OOOOO
R(t,T):E[n(t)-n(t+T)]:/ / nyngProb[n(t) = ny,n(t + 7) = n2]dnidn.0 (5.9)

ooocoooobooooon.
g,00¢t0000g0no

O«

OO
od
od
od
od
od
od
od
od

R(7) = E[n(t) - n(t + 7). (5.10)

1 T/2
R(r) = lim —/ n(t)n(t + )dt. (5.11)
T—oo T —T/2
Jooooobobobooooooooobobooo, 0o obo,bo00o0ooooooboo
0200000000000000000000000000O00000000000000000
gooono
oo bbb oooooo
000000000006 0000000000000000000000000000000
00o00ooDoOoDooodo o< f<WiODOUOOODOOOooOoooooDoooooooood
0001/2woo00o00000000000000o0000o00o0oUo0oUo0oUooUooOo
oo
56 000000000000 OO(QMDOODODO)
000000000 @, 0000.0000k000000.00 @, 00D000DOOO0DOODOOO
00 1/T,0000000¢() 0000000000000

z(t) = > apg(t—kT) (5.12)

k=—o00

00000000 k00000000 @, 000000000000000000O000000 2(¢) O
000000000000)0000((x¢) 0000000000000 0000000000000
obooooboob0ooooboooooobobooooboobooono

5.6.1 JUUOUOUOObOObOOOO4d
goooboobb e, O00D0O0O0OO

p(m,n) = Elam - ay)

[
/ Um, * A P(am, an)damday, (5.13)

00000. 00, Plam,a,) 0 am,a, 000000000000.
Ud e, 00oooooODObODOO0O0, 00000 mDOnO0000O0O0ODO. DOOOOOOO
ooo

¢p(m—n)00
p(m,n) = ¢(m —n) (5.14)
oooooooooo. 3

0000000000000000
0000000¢(m,n) =¢(n,m) 0000000 ¢() = (1)

w N
o™
o™

31



5.6.2 UU00O0OOOOOOOOOODOOOOObLObODOOO

000000000 0000000 ¢(m—-n)00000000000000000 z(t) =
S ag(t—kT)0D000D0000

R.(t,7) = E[z(t)z(t+ )]

oo

= E[ Z amg(t — mT) Z ang(t + 7 —nT)]

=—00 n=—0oo

2: }: d(m —n)g(t — mT)g(t + 1 — nT) (5.15)

m=—00 N=—00

00000000000 ¢()0000000000000000000000000000000
0000 2(¢)00000000000000000000000000000000000000
0000tr000000000000000000000000000000000000000
00000000000000000000, (5.15)000000000000000000000
0O0O00D0000O0O0ooo.

O0D000R,(t,7)0000 TOD0.00000000 k00000R,(t,7) = Re(t+kT,7) 0
000D0D00000000000 Re(r) 00

Ralt,7) = Ro(7) = / Ra(t,7)dt. (5.16)
T J 7/
ogooo
O00ooo (5.15)00000l=m—-n00000000

T/2
R.(r) = f Z Z / gt —mT)g(t+7— (m —1)T)dt
=z > ¢()Ry(r +1T) (5.17)

O000D000OR,(r)00DOODOODOODOOg(t)DO0D0DOODOO0ODOO.
O000z(t) 000000000000 0OR.(r)0000DOOOOO

./ RATfﬂMWT—/) > )Ry (r +IT)e ™7 dr

l—foo

Sa(f)

= % Y WIS (f) =0 Sa(f)Sy(f) (5.18)

0000000S,(f)00R,(r)0000000000000 g()000000000000000
oooo

:% Z (b(l)e—‘,—jQﬂ'flT:% Z ¢(l)e—j2ﬂflT|:| (5.19)

l=—0c0 l=—0c0

0ooo4o
000000000000000000000000000(5.18)0000000 00000
000000000 S,(f)00000 ¢(¢)0000000000000S,(f)000000000
000

0000 (519)0 S,(f) =10g¢(t) =6()00000 z()00O00000 @, 00000 TOO
0oooo

oo

a(t)= Y ad(t - kT) (5.20)

k=—oc0

googoboooboooboooboobogn

‘i0D0000 ¢() =¢(-1) 000

32



